Math 111 - Quiz 6 Name: SOLWUT LONS

(1) [6] Suppose

U=1{0,1,2,3,4,56,73809}, A={0157}, B={023528}, C={56879}
(i) Determine AU(BNA) ~— RNA = {o §'}
?

SoAau(RNA) = {o)\)s,‘-r}

{;o‘ﬁce,‘.' S;nce (BOQ)C A N AU <BnA)= A—I

(ii) Determine (C N A) N (A) CnNA = is—} \ -/S = {7_‘3|‘-(,é,8’)‘§}
~cna)n @)= &
[Nohce: since cna < A, (cnn) ﬂ@‘) = Q/J

(iii) Determine ANB 4 = {21314)619)%} y ?:{[)L{)é)?)?}-

o A mf = {‘1)6)%}

(2) [4] The user names for a computer network consist of four uppercase letters selected from
{A, B, C,...,Z} followed by four digits selected from {0,1,2,...,9}. How many possible user names
have no matching adjacent letters or digits?

Rer momes have  Tovrwm —— )=y —
. “ S =N s
e 4 ..
lett evs 0&!}«"'3.

o e ettert ) Fhere art 26 choices Fov e st letrer,
wsl 25 hioice; P emd db 4o wext Threc.
5§MHCW(-‘3) vaau&fﬁ) Feve e | choees Fr- te et
igt oved U £ eauc o e -Couowevé?-rwee.

So wn Wl Hhere at (26)(2’3’)3(10) (a)°= ,Z)Cf(ol)fél)ﬂ)a
poSS{!J(e USy~ VML,
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(3) [6] 250 fitness club members are surveyed to determine the type of equipment they use regularly.
170 replied that they use an exercise bike regularly, 119 said they use a stair stepper machine regularly,
and 67 said they use both regularly. How many of those surveyed use neither of the machines regularly?

250-102-6F-52 =

1 _

B bike
S' i o madhane .

o 28 use neither gt mackines regularly.
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